
Revision : Week 3 Due : 5pm on2nd Sept.
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Instructions
-

· Discussion is allowed and infact encouraged

I· Answersmt be written by yourself.-

· All sources (including discussions) thatore used

to reach the solution must be mentioned.

-

Argue Correctness = Describe what each of the

states/rules are supposed to

Lookingand why they do that

① Give a CFG that generates the foll.

language one 30 , 13.

3 W : W has odd bugth and starte
ends with the same symbols

Argue correctness.

Also give an example of a string in

this language and
show the pause

tree corresponding to its drivation



using your gammar. [3+ 2+ (2 + 11]

② Convert the following CFG into one in

Chomsky Normal Form.

A- BAB/BIE
B - 00/E [4]

③ Construct a PDA for the following
language.

The complement of Sabr : no]

Argue correctness. [2 + 2].

④ Use the pumping lemma to show

that the following language is not

context-free : Son n

jn ,
n

: n >03.

[5]
.
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